Jo v
2% APEX DYNAMICS, INC.

20201080101

Z K &R B EMCPILRID

B 5B 55 5Z SRR AR S - WA BSERIBRE < LR
BHEEES -

®

a. MT/ELRT2H -
b. IBNE - BFLEFERE -

Y reEss
ESEMTHEEE

ERFEHOLRY -
(EBEVE  ELHBE)

BUNMEAFTE  DURMEBANDR (x—) E&EH
JMER 5% K 1~4 VB - BRFH/WRL KR
MMEEER L -

BRERBRMERER 2RER_BEHB
8 DHEINFRHEERBRMER -

RSB IIER  MRMENS (R—)
RESINE - & 1-4 BB - AR 5185
e .




e i

INAUER ST s 8.8 itk sEEHH PRI 10.9 I8k SRS IR 12.9 i8kh.2 B
B R
[mm] [Nm] [In-1bs] [Nm] [In-1bs] [Nm] [In-1bs]
M3 x 0.5P 2.5 1.3 12 1.8 16 2.1 19
M4 x 0.7P 3 3 27 4.1 37 4.9 44
M5 x 0.8P 4 6.1 55 8.2 73 9.8 87
M6 x 1P 5 11 98 14 124 17 151
M8 x 1.25P 6 25 222 34 302 41 364
M10 x 1.5P 8 49 434 67 594 80 709
M12 x 1.75P 10 85 753 116 1028 139 1232
M14 x 2P 12 137 1214 186 1648 223 1976
M16 x 2P 14 210 1860 286 2534 343 3038

RK_ JEE PR IR R At

— JE SRR R R ANAERT R
HRBE [mm] [mm] [mm] [Nm] [In-Ibs]
PE II 050 PAII 042 C3=8 M5 x 0.8P x 16L 4 9.8 87
PG II 040 PNII 017 C3=11 | M5x 0.8P x 16L 4 9.8 87
PSII A C3=14 | M5x 0.8P x 16L 4 9.8 87
C3=8 M5 x 0.8P x 16L 4 9.8 87
PE I1 070 PAII 060 C3=11 | M5x0.8P x 16L 4 9.8 87
Eg IIII 360 PNII 023 C3=14 | M5x0.8P x 16L 4 9.8 87
C3=19 | M8 x 1.25P x 25L 6 41 364
C3=14 | M5x 0.8P x 16L 4 9.8 87
E(E; IIi 828 F'fﬁ g 822 C3=19 | M8 x 1.25P x 25L 6 41 364
he 11 C3=24 | M8 x 1.25P x 25L 6 41 364
C3=28 | M8 x 1.25P x 25L 6 41 364
C3=19 | M8 x 1.25P x 25L 6 41 364
PE 11 120 PATI 115 C3=24 | M8 x 1.25P x 25L 6 41 364
PG 1T 120 PN 11 042 C3=28 | M8 x 1.25P x 25L 6 41 364
PSII D C3=32 M10 x 1.5P x 30L 8 80 709
C3=35 | M10 x 1.5P x 30L 8 80 709
C3=38 | M10 x 1.5P x 30L 8 80 709
C3=19 | M8 x 1.25P x 25L 6 41 364
C3=24 | M8 x 1.25P x 25L 6 41 364
bE I 155 PATL 142 C3=28 | M8 x 1.25P x 25L 6 41 364
PSII E C3=35 M10 x 1.5P x 30L 8 80 709
C3=38 | M10 x 1.5P x 30L 8 80 709
C3=42 | M12 x 1.75P x 350 10 139 1232

fiiet s IR B JAECR A Balifi - A R 2R - ADRSEESH) 2380 AR i 20% - LIBEGRFTYE -

W HHah 1 886-4-24650219 / fHE : 886-4-24650118

ok & PP EERE =R 10 5

APEX-2014-12-1 E




	20201080101
	20201080101-背

